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Sample Paper – 2012
Class – X
Subject – SCIENCE
TIME: 2 ½ HRS                                                                                                      MM 60                        

One mark Questions

1. Define ONE Dioptre of power of lens?        





2. Write Functional Groups of KETONE and CARBOXLIC ACID

3. What is the role of decomposers in the ecosystem?

4. What will happen if we kill all the organisms in one tropic level?





                                                                           
1X4=4

Two mark Questions

5. What are fossils? What do they tell us about the process of evolution?      
 

6. Why should we conserve forests and wildlife?   




 

7. Define Dispersion, Spectrum?






8. Why does the sky appear dark instead of blue to an astronaut?

9. Why does a cut diamond shine more than a glass piece of diamond cut?



10. Given below is a part of periodic table, as go from left to right in a table
   

	Li
	Be
	B
	C
	N
	O
	F
	Ne

	Na
	Mg
	Al
	Si
	P
	S
	Cl
	Ar


                (A) What happen to the metallic character of the elements



     (B) What happen to the atomic size?

11. Explain why the atomic number of an element is more important for a chemist as compare to its atomic mass.


 

12. What are the changes seen in girls at the time of puberty?         




13. Why is DNA copying an essential part of the process of reproduction?




 






2X9=18
 
 

Three mark Questions                                                                   



14. An object 2.5cm high is placed at a distance of 25cm from convex lens of focal length 20cm. Find the nature, position and size of the image formed?     


15. Write the Sign Conventions for Refraction by mirrors                  




16. Write the phenomena  of Tyndall effect

17. What are Carboxylic acids? How do they differ from mineral acids?      



18 Sodium and aluminum have atomic number of 11 & 13 respectively they are separated by one element in the periodic table and have valences of 1 & 3 respectively. Chlorine and Potassium are also separated by one element in the period table. (Their atomic numbers being 17 & 19 respectively) and yet both have the valiancy of 1 Explain the reason?

19
How is the equal genetic contribution of male and female parents ensured in the 
progeny?    



20
A study found that children with light- coloured eyes are likely to have parents 
with light –coloured eyes. On this basis, can we say anything about whether the 
light eye colour trait is dominated or recessive? Why or why not?




  21
How do Mendel’s experiments show that traits are inherited independently?
  22
If a woman is using a copper T. Will it helps to protecting her from STD? 
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 Five  mark Questions







  23
An organic Compound A is widely used as a preventative in pickles and has a molecular formula C2 H2 O2. This compound reacts with ethanol to form a sweet smelling Compound B

(a) Identify the Compound A

(b) Write the chemical equation with ethanol to from compound B

(c) How can we get compound A back from B
(d) Name the process and write equations?


(e) Which gas is produced when compound A reacts with washing Soda? Write     the chemical equations?  







1X5
OR


(A) Identify the alkanes, alkenes, alkynes from the following?



CH4, C2H2, C3H4, C2H4



(B) Write the Isomers of BUTANE?


(C)What are the unique properties of carbon atom which lead to the formation of 
a large number of carbon compounds? 





2+1+2
   24
(A). In which part of the female reproductive organ of human female fertilization take place and what happen to fertilize the egg?                               

(B) What is meant by pollination? Describe its various types with name of various 
pollination agents?





















3+2   
OR

What are the different methods of contraception? Give the reasons for 


adopting contraceptive methods.
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25
(i) Why is a normal eye not able to see clearly the objects placed closer than 



25cm? 


(ii)The chick wakes up late in the morning and goes to sleep early in the evening. 

Why?












3+2
OR
Explain the phenomenon of rainbow. The stars seem to be slightly higher than they actually are. Why?
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